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QUESTION 1

Which command would you execute to restore to a specific moment-in-time?
A. onbar -t timestamp

B. onbar -r -log lognum

C. onbar -r -t timestamp

D. onbar -r -l timestamp

Correct Answer: C

QUESTION 2

What is the default isolation level on a mode ANSI database?
A. Dirty Read

B. Cursor Stability

C. Committed Read

D. Repeatable Read

Correct Answer: D

QUESTION 3

Click the Exhibit button.

CREATE DATABASE dt3;
CREATE TABLE t1(c1 CHAR{10), c2 INT CHECK
(2510

INSERT INTO t1 VALUES ('a' 3);
INSERT INTO U] WALLUES ('D' 4,
INSERT INTO t1 VALUES ('c'.5
INSERT INTO t1 VALUES ('d' &
INSERT INTO t1 VALUES ('d',7
SELECT * FROM t1;

]
1
)
B,
)

The query.sql file contains the information shown in the exhibit. The following command is run: dbaccess ?query.sql
How many rows will be returned by the select query?

Al
B.2

C.3
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D.4

Correct Answer: B

QUESTION 4

Which of the following privileges can NOT be granted to a role?
A. Type-Level

B. Table-Level

C. Routine-Level

D. Database-Level

Correct Answer: D

QUESTION 5

In what way is Enterprise Replication (ER) replication different from High-Availability Cluster (HAC) replication?
A. All data types are replicated.

B. The data to be replicated is defined at an instance level of granularity.

C. The data to be replicated can be defined at a column level of granularity.

D. The data to be replicated can not include simple blobs stored in simple blobspaces.

Correct Answer: C
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